MIA M PDADE MIAMI-DADE COUNTY, FLORIDA
I METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.buildingcodeonline.com

Quality Engineered Products, Co., Inc.

4506 Quality Lane

Tampa, FL 33622

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including High Velocity Hurricane Zone of the Florida Building Code.

DESCRIPTION: Series 16 ga Outswing Commercial Steel Door w/ wo Panic Exit Devices-Impact

APPROVAL DOCUMENT: Drawing No. 16GACOSD-1, titled “16 GA Commercial Outswing Steel Door”,
sheets 1 through 8 of 8, prepared by manufacturer, dated 05/06/04 and last revised on 02/01/2006, signed and
sealed by David M. Schonacher Jr. , P. E., bearing the Miami-Dade County Product Control revision stamp with
the Notice of Acceptance number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 04-0822.02, consists of this page, evidence sheet E-1 and E-2, as well as, approval
document mentioned above.

The submitted documentation was reviewed by Ishaq I. Chanda, P.E.

NOA No 04-0823.05

Expiration Date: January 30, 2008
Approval Date: Febrnary 24, 2006
Page 1




Quality Engineered Products, Co., Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A, DRAWINGS
1. Manufacturer’s die drawings and sections.
2. Drawing No. 16GACOSD-1, titled “16 GA Commercial Outswing Steel Door”,
sheets 1 through 8 of 8, prepared by manufacturer, dated 05/06/04 and last revised on
02/01/2006, signed and sealed by David M. Schonacher Jr., P. E.

B. TESTS
1. Test reports on 1) Air Infiltration Test, per FBC TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202.
3) Water Resistance Test per FBC, TAS 202-94 (Not Performed).
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
Along with marked-up drawings & installation diagram of Commercial Steel Doors w /Panic
devices, prepared by Certified Testing Laboratories Inc., Test Report No. CTLA 1276W,
dated Nov. 11, 2004, signed and sealed by Ramesh Patel, P. E.
(Note: This test report has been revised under Test Report No. CTLA 1276WR, re-issued on
Feb 01, 2005 by Certified Testing Laboratories, signed and sealed by Ramesh Patel, P. E.)
2. Testreports (Transferred from fite # 04-0220.02) |
1) Air Infiltration Test, per FBC TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202.
3) Water Resistance Test per FBC, TAS 202-94 (Not Performed).
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per FBC and TAS 202-94
Along with marked-up drawings and installation diagram of Steel Commercial Steel Doors,
prepared by Certified Testing Laboratories Inc., Test Report No. CTLA 114W, dated
December 09, 2003, signed and sealed by Ramesh Patel, P. E
(Note: This test report has been revised by addendum letter dated May 26, 2004 & June 30,
2005, issued by Certified Testing Laboratories Inc. )
3. Additional test report HTL-0050-1012-97 tested per FBC, TAS 202-94, issued by
Hurricane testing laboratories, Inc. dated 10-16-98, signed and sealed by Timothy S.
Marshall, P. E. (Transferred from file # 04-0220.02)

C. CALCULATIONS
1. Anchor verification calculations, dated 01/18/2006 and revised on 01-26-06, prepared,
signed and sealed by David M. Schonacher Jr., P.E
2. Anchor verification calculations, dated 01/14/2004 and revised on 06-09-04, prepared,
signed and sealed by C. F. Fernandez, P.E.

D. QUALITY ASSURANCE BY:
1. Miami Dade Building Code Compliance Office (BCCO).

\ S ‘M‘l \ N Ll«é P
Ishaq L. Chanda, P.E.
Product Control Examiner
NOA No 04-0823.058
Expiration Date: January 30, 2008
Approval Date: February 24, 2006




Quality Engineered Products, Co., Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITT

E. MATERIAL CERTIFICATIONS (Transferred from file # 04-0220.02)
1. Tensile test report prepared by Certified Testing Laboratories Inc., Test Report No.
CTL 1023]J (CTLA114W), tested per ASTM E-A370-97, dated December 02,2003,

signed and sealed by Ramesh Patel, P. E.
2. Notice of Acceptance No. 01-1108.09 issued to Apache Products Company for “EPS-
Expanded Polystyrene Insulation”, expiring on 01/11/2007.

F. STATEMENTS

1. Statement letter of conformance and “no financial interest”, dated 01-26-2006, signed
and sealed by David M. Schonacher Ir, , P. E.
2. Statement letter of compliance, as a part of the above referenced test reports.
G. OTHER

1. This NOA revises NOA #. 04-0220.02 (# 02-1011.05), expiring January 30, 2008
2. Test Proposal by Q. E. P. dated September 19, 2002, approved by BCCO.

Lohany \ . (hande
Ishaq I. Chanda, P.E.

Product Control Examiner

NOA No 04-0823.05

Expiration Date: January 30, 2008
Approval Date: February 24, 2006




76" MAX. UNIT WIDTH

76" MAX. UNIT WIDTH

COMPLIANCE OF THESE UNITS TO FBC
EGRESS/ESCAPE REQUIREMENTS TO
BE REVIEWED BY BUILDING OFFICIAL
ON A CASE BY CASE BASIS

2" ” 2”
™~ ™~ _
X és)i
o o - o —
8 8, " 5, 8| &
u q ~ i
N N ~N s
- 3 <3 o 3 =
Z = 3 ,./ \.\ 3l = =z
=2 ~ H /5\ a — D
4 S (R (0 £ \/ Q| S
g & |- | & 1 _"16 GA. DOORSN\_! SH |8 %
: * AN :
o @ 270 |INACTIVE ACTIVE \ o =
16 GA. FRAME
\ (4N
&)
2/ Vil 21 2"
6'—0" (72") MAX. DOOR 6'—0" (72") MAX. DOOR
(4) TOTAL ROCKWOOD 580 IVES 360 SURFACE
INTERIOR VIEW SURFACE BOLTS, (2) EXTERIOR OF BOLTS, (2) INTERIOR  INTERIOR VIEW
ACTIVE, (2) INTERIOR OF INACTIVE OF INACTIVE
LOCK TESTED: ITEM #9 LOCK TESTED: ITEM #22

PROBUCT REVISED
as copgplying with the Florida
Buidibg Code

Accoptance NepU ~0%23%.05
Expiration Dai rd 8

PDQ MORTISE LOCK MODEL MR117

SCHLAGE MORTISE LOCK MODEL L9453P

DESIGN PRESSURE RATING (OUTSWING DOUBLE DOORS) w/(4) ROCKWOOD SURFACE BOLTS

WHERE WATER INFILTRATION
REQUIREMENT IS NEEDED *

WHERE WATER INFILTRATION
REQUIREMENT IS NOT NEEDED OR
PROTECTED BY OVERHANG*

SARGENT MORTISE LOCK MODEL 8225NL

DESIGN PRESSURE RATING (OUTSWING DOUBLE DOORS) w/(2) IVES SURFACE
BOLTS (INACTIVE DOOR LEAF)

POSITIVE

NOT APPROVED WITHOUT OVERHANG *

+90 PSF

NEGATIVE

NOT APPROVED WITHOUT OVERHANG *

—90 PSF

WHERE WATER INFILTRATION
REQUIREMENT IS NEEDED *

WHERE WATER INFILTRATION
REQUIREMENT IS NOT NEEDED
OR PROTECTED BY OVERHANG*

* UNIT SHALL BE INSTALLED AT LOCATION PROTECTED BY OVERHANG SUCH THAT
OVERHANG RATIO (OH) = OH LENGTH/OH HEIGHT IS GREATER THAN 1

POSITIVE

NOT APPROVED WITHOUT OVERHANG *

+70 PSF

NEGATIVE

NOT APPROVED WITHOUT OVERHANG *

-70 PSF

/ C = BILL OF MATERIALS REFERENCE, SEE SHEET 6 OF 8

* UNIT SHALL BE INSTALLED AT LOCATION PROTECTED BY OVERHANG SUCH THAT
OVERHANG RATIO (OH) = OH LENGTH/OH HEIGHT IS GREATER THAN 1

14006
/

FLORIDA REZ. & 63131

DAVID M. ECH%IACHEQ, PE.
(NOT VALID WITHOUT SEAL)

*
o
LI
Jzp &
Fee 9
39
<z W
> o0 -~
G{w é.
8%® Yo
x =
3 %
a
-
(1]
(1]
o &
o
E o
=S O
n
e
3|
|
<
o
o
L
=
3
3 338
™NO
Ol 11711
N N~
o0 S 000
¥ -am
-—
|
(]
(78]
S .
<| =
Q| &
S| § 38
h83d
(] LJ
| £$8%
a '-'-'touo
=| 3¢z
D Lug:
Z| Eg°p
=2 WD
(&) Zn~0
prd
§ SHEET 1 OF 8
¥
) DATE: 5-6-04




ITW/REDHEAD INTO GROUT FILLED BLOCK

OR CONCRETE w/ 25" MIN. EMBEDMENT
W/ SPACING PER SHEET 4

™0
d.

STEEL ASA STRIKE

12 GAUGE x 14"

REINFORCEMENT

E2

. T~ V716 GAUGE
1/4" MAX. SHIM /| sTeeL FrAME
16 GAUGE FRAME, XL op
GROUT FILLED . SPOT WELDS
EXTERIOR
7 GAUGE  QUTSWING
HINGE -
REINFORCEMENT +
e +T—(3) HAGER HINGES
ol / 41/2" x 4 1/2"
+
+
o T——SPOT WELDS
v g PEMKO 312CF PERIMETER —
v GASKETING w/ #6 x %" 1n
SCREWS @ 6" 0/C ) 7
3/8" x 5" DYNABOLT SLEEVE ANCHOR BY —\—

STEEL HINGE PLATE

7 GAUGE x 1 1/4” x

10"

FRAME HINGE REINFORCEMENT

B2

\
O

]
"~

~~— WELD

%" DIA. X

[ F— %" DIA. X 2%” PIPE
WELDED TO BACKSIDE OF
HOLLOW METAL FRAME

2%" PIPE

WELDED TO BACKSIDE OF
HOLLOW METAL FRAME

A2
-F-J\/7L:'16 GAUGE
STEEL DOOR
x [ SPOT WELDS
: B
)~ SPOT WELDS
o T
£ .EC\K?j
" x y4.”
:,s\q K
" =
8 L
_/\/_ n PR

PIPE SLEEVE DETAIL

X 2y2u

16 GA. STEEL BOTTOM @
CHANNEL SPOT WELD 4" O.C.

PEMKO #2005AV ALUM.
THRESHOLD

EXTERIOR

%" x 2" ITW/TAPCON @ 12" 0/C w/
1%” MIN. EMBEDMENT INTO CONC.

@

(SEE SHEET 4 FOR SPACING)

THRESHOLD INSTALLATION

/ C = BILL OF MATERIALS REFERENCE, SEE SHEET 6 OF 8

DOOR HINGE REINFORCEMENT

1 V/'—16 GAUGE
STEEL DOOR
X Xr——SPOT WELDS
x o
B -
. HT—(3) HAGER HINGES
b‘:dk-\l 4 1/2" X 4 1/2n
+ o
+
T——SPOT WELDS
x o
X X
1%”
o

STEEL HINGE PLATE
7 GAUGE x 1 1/4” x 10”

C2

0Io

Ty Code
mt%uc;ee (VAL 042 05‘
Bxpiration mw&Wo

.

T \/_/'—16 GAUGE
STEEL DOOR
X X
;\ SPOT WELDS
+
/ SPOT WELDS
X X
1”
A ;lz_ 5

STEEL MORTISE LOCK
REINFORCEMENT

12 GAUGE x 1%" x 24"

D2

20 GA. STEEL HAT STIFFENER

SPOT WELD 6" 0.C.
FULL HEIGHT OF DOOR.

4506 QUALITY LANE
TAMPA, FLORIDA 33634
(813) 885-1693

Producl Bo., Ine.

DAVID M. SCH
FLORIDA REG. # 63131

(NOT VALID WITHOUT SEAL)

NACHER, P.E.

x

o

o

Q

-

[

[T

[

[72]

(&)

4

=S S0}

N

3l N

-

<

(&

@

[T

=

=

(o] 0

S 3

. 12} w0
Zz

|38 q
(77] -

0SS ?

B 1w

-—

|

0O

n

S| .

</ 3

O| 8§ =2

(Lo) a )

-— o (SN
<°E°
83y

x| BE3E

m u%m

S| £-02

2| £833

<| g& B

O ITWNn~0

prd

= | SHEET 2 OF 8

é .

I DATE: 5-6-04




16" x 26" x 12 GA. 1/4” MAX. SHIM <
STEEL LOCK OR STRIKE M
REINFORCEMENT — - %ﬁ
- - v <€
oo oK BoX. I A PEMKO 312CR PEMKO 375CR GASKETING [, lrv,. -0 J<m S
(4) C D OOR GASKETING w/ #6 x %" w/ #6 x %" SCREWS @ e r el SN
SCREWS @ 6" 0/C 6" 0/C (BOTH SIDES) B ggl})
y 1| - . 3,0 >
< &
l/ l l }% l l _INACTIVE ., ACTIVE ug;%@ RO
1 1 R %+ & +=S
” 1n
7% 7x o]
8 8 | I v Q
' T Z 7 GA HINGEX i
%" x 10" x 7 GA.— : 7]
G3 REINFORCEMENT ANCHOR BY (TW/REDHEAD INTO ) 5
- GROUT FILLED BLOCK OR CONCRETE ~ 1/4”" MAX. SHIM e ‘
1SJ$EE>C E}gcxx O1R2 SGTAFEIKE — w/ 2%” MIN. EMBEDMENT JJ .% )
REINFORCEMENT MU PEMKO 312CR PEMKO 375CR GASKETING 3 N
16 GA. LOCK BOX, 16 GA. SRR W SRR GASKETING w/ #6 x %" w/ #6 x %" SCREWS @
SPOT WELD (4) PLACES ES)(T)%ERL I I R SCREWS @ 6" 0/C 6" 0/C (BOTH SIDES) =
SEE ,'__.,-__'_' Q
o7 <. . ' W
<V od{ INACTIVE . ACTIVE i S
. . . [7+]
- )—% I ~— ) 8| 8
JA EXPANDED %" x 10" x 7 GA. SR 1| <|2 ®
POLYSTRYRENE CORE STEEL HINGE — _/ |6 o
BY APACHE PRODUCTS  REINFORCEMENT 3/8” DIA. x 5" DYNABOLT SLEEVE  EXTERIOR ;E&/?__.OSICNE%EENT ol|Z S
G3 @ANCHOR BY ITW/REDHEAD INTO K3 Y,
2 GROUT FILLED BLOCK OR CONCRETE 02
w/ 2% MIN. EMBEDMENT
ROCKWOOD 580 IVES 360 PRODUCTREY;S'?;?M N
FLUSHBOLT & FLUSHBOLT @ mmigggj‘ WELDED a
— — Acceptance NoO - CORNERS 72
b—4 —— Expu’ﬁtionm o
o -
INTERLOCKING | £
. TABS NG Q| 8 &
CED CHE) ©| £ 38
%" DIA. x 3" STAINLESS - E
STEEL FLAT HEAD | @83
BOLTS/NUTS/WASHERS W| F<ohp
TYPICAL CORNER O] Y8y,
[ | - 0
o Jo [o /—STRIKE PLATE CONNECTION % Sn2%g
xWoin
—— “— <l gz 8
R : /) , ) THhed
HS -, . H3A pEB0 | 2006 =
T /[ = | SHEET 3 OF 8
T , DAVID M. SCHONACHER, PE. | <
- ' FLORIDA REG. # 63131 1 . B_A_
/—® BILL OF MATERIALS REFERENCE, SEE SHEET 6 OF 8 (NOTVALD WiTiOUT 52a) | o | DATE: 5-6-04




* o NID 1~ NO ANCHORS REQURED IN

e HEAD OF FRAME (SEE NOTE*)

d B . i
%" MAX SHIM 4/ !
1

—= PEMKO 347A TOP DRIP w/
g #6 x %" SCREWS @ 6" o/c@
a g, PEMKO 68A TOP

WEATHERSTRIP w/ #6 x %

3/8" x 5" DYNABOLT SLEEVE ANCHOR BY/
ITW/REDHEAD INTO GROUT FILLED BLOCK

OR CONCRETE w/ 25" MIN. EMBEDMENT
W/ SPACING PER SHEET 4

PEMKO 68AR PERIMETER
GASKETING w/ #6 x %"
SCREWS @ 6" 0/C

@0 oR

SEE DESIGN
PRESSURE TABLE
ON SHEET 1

@0 OR

SEE DESIGN
PRESSURE TABLE
ON SHEET 1

SCREWS @ 6" 0/C

il 18 GA. STEEL TOP CAP,
TACK WELD AND CAULK

\—— 16 GA. STEEL CHANNEL,
\ SPOT WELD 4” O.C.
16 GA. STEEL CLOSER

REINFORCEMENT

[

Ir_] —

TACK WELD HATS
TOGETHER TOP AND
BOTTOM

|_———— 20 GA. STEEL HAT

STIFFENER, SPOT

WELD 5" 0.C.

\

=10
=

ALL VOIDS FILLED W/ EPS BY
APACHE @

PEMKO #2005 AV _THRESHOLD

w/ VINYL SEAL

16 GA. STEEL BOTTOM
CHANNEL SPOT WELD 4" o.c. {6
PEMKO 368CN DOOR BOTTOM
SWEEP w/ #6 x %" SCREWS

/ C = BILL OF MATERIALS REFERENCE, SEE SHEET 6 OF 8

@ 6" 0/C
P %" x 2" ITW/TAPCON @ 12" 0/C w/
4 & .0 1%” MIN. EMBEDMENT INTO CONC.
e (SEE SHEET 4 FOR SPACING)

VERTICAL SECTION L—L

76" t@mx. UNIT WIDT:H

8" 20

|

I I

24"

TOTAL (4) ANCHORS
5 PER JAMB
<l (20" MAX SPACING)

TOTAL (6) ANCHORS
i PER SILL
Wl (12" MAX SPACING)

86" MAX. UNIT HEIGHT

6°] 12" | 12" | 12" | 12" [ 12" |¢6"

ANCHOR [OCATION INSTALLATION INTO NEW MASONRY

(GROUT FILLED BLOCK)

PROBUCT REVISED

a8 copplying with the Florida
Buidibg Code

Acceptance No O 0%23:05
Expiration Date

16 GA. COMMERCIAL OUTSWING STEEL DOOR

TAMPA, FLORIDA 33634

4506 QUALITY LANE
(813) 885—1693

Producls Bo., Ine.

2
é

REVISIONS
3 01-26—-06

DAVID M. SCHENACHER, P.E.

FLORIDA REG. # 63131
(NOT VALID WITHOUT SEAL)

16GACOSD-1

DRAWING NUMBER

HURRICANE TEST APPROVAL

SERIES 16GACOSD
16 GAUGE COMMERCIAL
OUTSWING STEEL DOORS

SHEET 4 OF 8

DATE: 5-6-04




100" MAX. UNIT WIDTH

?u 96” ? I’

&
®

56”

81 1/2"
<

52" MAX. UNIT WIDTH

9'

o

98" MAX. UNIT HEICHT
8'~0" (96") MAX. DOOR

—

40 5/16”

DOUBLE QUTSWING DOOR (INTERIOR VIEW)
w/ DORMA’'S HCF 9400 VERTICAL ROD PANIC DEVICE

DESIGN PRESSURE RATING

WHERE AIR & WATER WHERE AIR & WATER
INFILTRATION REQUIREMENT |[INFILTRATION REQUIREMENT

IS NEEDED NOT IS NEEDED
POSITIVE | +80 PSF +80 PSF
NEGATIVE | —80 PSF —-80 PSF

/ C = BILL OF MATERIALS REFERENCE, SEE SHEET 6 OF 8

B

N

g,

8'—0” (96”) MAX. DOOR

98" MAX. UNIT HEIGHT

SINGLE OUTSWING DOOR _(INTERIOR VIEW)

w/ DORMA'S HCF 9400 VERTICAL ROD PANIC DEVICE

52" MAX. UNIT WIDTH

Y

” 4-8"

7.

8'—0" (96”) MAX. DOOR

40 5/16"

AN

98" MAX. UNIT HEIGHT

PROBUCT REVISED

as complying with the Florida
Buidihg Code

Accéptance NGQE:QXZQ;P{
Expiration Bate, TAN 38,200

3

SINGLE OUTSWING DOOR (INTERIOR VIEW)

w/ DORMA’S HCF 9300 RIM EXIT DEVICE

w/ 416 STRIKE PLATE

DAVID M. SCH

IACHER, PE.
FLORIDA REG, # 63131

(NOT VALID WITHOUT SEAL)

*
o
LI
Sep 8
[aXe)
FEe 9
39
< v
o | [+0] ~
C® é
| 8%® Yo
& LR
o é
(]
-
[}
[}
&
o &
E B
= €O
n
3 N
-
<
3]
o
(]
=
3
8, 3
.| @ ©
<| Z
S |5 )
o|s =)
“ ¥ 1 im
-
|
()
7
S .
<| =
Oo|lo ¢
e £ %3
783d
ARELE
=| 3792
Qungs
>| 2833
(14 [ g
DD
o N ~0
z
= | SHEET 5 OF 8
<
Oai DATE: 5-6-04




| H “

] I L <
| 100" MAX. UNIT WIDTH 100" MAX. UNIT WIDTH u§
It I I zn R
| Il |! N |i P g
@ e rES %
© 3O |
: o ) -
] o 16 GA. STEEL BOTTOM Gg® é
= o = A - CHANNEL SPOT WELD 4" O.C. §%§ 9
. i o i " PEMKO #2005AV ALUM. x| R0
S x " T 15| _ . THRESHOLD Q =
« E : = W | E Q
TOTAL (5) ANCHORS 3 © TOTAL (15) ANCHORS 3 , = _ EXTERIOR
PER JAMB 5 © PER JAMB 5 A ) R =
2 (20" MAX SPACING) < o (6" MAX. SPACING) < v o Y4——#10 x 2” WOOD SCREW '-,'_J
Y o . L5 w/ SHIELD @ 9" 0/C w/ " I &
> o o ' 1%” MIN. EMBEDMENT %)
5 © OR § : &
S TOTAL (10) ANCHORS o TOTAL (10) ANCHORS ' x 2" [TW/TAPCON @ 7]
: 12" 0/C w/ 14" MIN. =
_ PER SILL o PER" SILL EBEGMENY S N
) (9" MAX SPACING) o (9" MAX. SPACING) o
8" [ 9" J‘ g" I 9" [ 9" l8" [ gl’ I' g" l 9” [ 9" [8" 8” [ g" "l 9" [ gﬂ l 9" [8” J‘ gll J‘ 9" l 9" [ 9" "|' 8" THRESHOI D INSTALLATION é
ANCHOR | OCATION INSTALLATION INTO NEW MASONRY ANCHOR LOCATION INSTALLATION INTO WOOD STRUCTURE e
(GROUT FILLED BLOCK) s
=
o
ITEM # |QUANTITY| BILL OF MATERIALS ITEM # [QUANTITY| BILL OF MATERIALS o $
<z 8
€ 1 16 GA. MIN., 14 GA. MAX., STEEL 11 AS REQ. | NATIONAL GAURD #130SA WEATHERSTRIP FRODUCT REVISED o9 )
HEAD/JAMB/SILL FRAME w/ # x %" SCREWS e Porida ©|=> o
2 2 16 GA. MIN, 14 GA. MAX., GLAZED STEEL 12 1 PEMKO 347A TOP DRIP Aecbpra_neeNtOﬂ:Q&Zmz.g € | 1m
DOOR — Fy MIN. 49,000 PSI Expiration Date
> ., 13 8 7 GA. STEEL DOOR HINGE REINFORCEMENT awle
3 8 HAGAR HINGES BB1279 4%" x 4% By_\ bhos \:LoMuzs | «—
0.434" THICK 14 8 7 GA. STEEL FRAME HINGE B Do do Produst GOt I
x REINFORCEMENT Bivision a
4 1 PEMKO 2005AV THRESHOLD 5 AS RE 7
5 10 3/8” X 5" DYNABOLT SLEEVE ANCHOR Q. | EXPANDED POLYSTYRENE (EI;S) BY i o
BY ITW/REDHEAD w/ 3/4” EMT WELDED APACHE w/ CURRENT NOA PRODUCTS Q| <
PIPE SLEEVE 16 4 16 GA. STEEL TOP AND BOTTOM "U” <<.'> 3 e
6 30 %" x 8" WOOD LAG SCREWS w/ %" EMT CHANNEL ©| & =g
PIPE SLEEVE , 17 2 12 GA. STEEL 1.5” x 4.5" x FULL LENGTH - g S EO
7 2 DORMA EXIT DEVICE HCF9400 VERTICAL LOCK REINFORCEMENT 2
ROD EXIT DEVICE w/ STRIKEPLATES TOP 18 AS REQ.| 20 GA. STEEL HAT STIFFENERS x| We S
8 2 QggMiOE;?TMDEV(CE HCF9300 RIM EXIT 9 1 VINYL GASKETING (THRESHOLD) O ¥8yo
OCKWOOD 5 A 0 =| <78z
DEVICE w/ STRIKE PLATES (416) 20 1 ROCK 80 SURFACE BOLTS S| Sa 3=
9 1 PDQ MORTISE LOCK MR117 21 1 IVES 360 SURFACE BOLTS = g E :g
22 1 SCHLAGE MORTISE LOCK MODEL L9453P, 2ol
10 1 PEMK%;BSACRDE%SR TOP WEATHERSTRIP w/ SARGENT MORTISE LOCK MODEL 8225NL %
#6 x (70 PSF ONLY) = | SHEET 6 OF 8
DAVID M. SCHORACHER, PE. | <C
FLORIDA RE®. # 63131 (2 DATE: 5-6-04
x :

(NOT VALID WITHOUT SEAL)




NO ANCHORS REQUIRED IN

- 4—— HEAD OF FRAME (SEE NOTE*)

%" MAX SHIM

426 STRIKE PLATE
w/ (2) " SMS

PEMKO 68AR PERIMETER
GASKETING w/ #6 x %"
SCREWS @ 6” 0/C

426 STRIKE PLATE
w/ (2) K SMs

\Tf

m——\

PEMKO 347A TOP DRIP w/
#6 x %" SCREWS @ 6" o/c@

e PEMKO 68A TOP
M~ ~ WEATHERSTRIP w/ #6 x %"

SCREWS @ 6" 0/C
18 GA. STEEL TOP CAP,
TACK WELD AND CAULK

16 GA. STEEL CHANNEL,
SPOT WELD 4" O.C.

16 GA. STEEL CLOSER
REINFORCEMENT

EXTERIOR (QUTSWING)

TACK WELD HATS
TOGETHER TOP AND
BOTTOM

( (1]

|_——— 20 GA. STEEL HAT

- STIFFENER, SPOT

WELD 5" O.C.

~———RoD EXIT DEVICE(7)

/—‘ALL VOIDS FILLED W/ EPS BY
APACHE @

PEMKO #2005 AV_THRESHOLD

w/ VINYL SEAL

16 GA. STEEL BOTTOM
CHANNEL SPOT WELD 4” O.C.
PEMKO 368CN DOOR BOTTOM
SWEEP w/ #6 x %" SCREWS

-4

. -

VER

-' n : SEE SHEET 6 FOR ANCHOR

L SPACING

TICAL SECTION M-—M

/ C = BILL OF MATERIALS REFERENCE, SEE SHEET 6 OF 8

—— NO ANCHORS REQUIRED IN
HEAD OF FRAME (SEE NOTE*)

%" MAX SHIM

~~~~~~~~~~

PEMKO 68AR PERIMETER
GASKETING w/ #6 x %"
SCREWS @ 6" 0/C

X

426 STRIKE PLATE
w/ (2) %" SMs

{\

N

~~ 1

PEMKO 347A TOP DRIP w/
#6 x %" SCREWS @ 6" O/C@

PEMKO 68A TOP
- WEATHERSTRIP w/ #6 x %"

SCREWS @ 6" 0/C

L— 18 GA. STEEL TOP CAP,

TACK WELD AND CAULK

REINFORCEMENT

EXTERIOR (QUTSWING)

TACK WELD HATS
TOGETHER TOP AND
BOTTOM

\ 16 GA. STEEL CHANNEL,
\ SPOT WELD 4" 0.C.
16 GA. STEEL CLOSER

s~ 20 GA. STEEL HAT

V4 STIFFENER, SPOT (I8)

WELD 5" O.C.

——— RIM EXIT DEVICE

w/ 416 STRIKE PLATE

ALL VOIDS FILLED W/ EPS BY
APACHE

— PEMKO #2005 AV THRESHOLD (4)
w/ VINYL SEAL

16 GA. STEEL BOTTOM
CHANNEL SPOT WELD 4" O.C.

PEMKO 368CN DOOR BOTTOM SWEEP
w/ #6 x %" SCREWS @ 6" 0/C

PROBUCT REVISED
a8 copplying with the Florids

Baidibg Code —
Acceptance NoO Y~ 0&'2 03
Expirstion Date JAM L0, )

SEE SHEET 6 FOR—— .
ANCHOR SPACING "~ % .4

. " |APPLICATION ONLY

VERTICAL SECTION N—N

[SINGLE DOOR

1 2006

FLORIDA REG. # 63131

DAVID M; SCHOMACHER, PE.

(NOT VALID WITHOUT SEAL)

<t
o
LI
S<m 8
cze Oy
30
<@g v
o> »
Cat:i )
8sm Yo

& S AN

o %

(]

-

Lad

Lt

o &

o

E B

S O

4

ju |

a3l N

-

<

o

[+'4

(1]

=

3

5|, 8

.| @ ©

< | Z

o9 ‘T'
wn -

oS o

“E 1 1m

|

a

n

S| 4

<l 3

O| 8 2

(Jo] o ‘_‘o

-— o OO
<_Ea

| ~235

m u‘DUQ

= g"g;

D =Nag2

Z| gg°p
2 WD

o XN -—~0

pd

S | SHEET 7 OF 8

<C

% DATE: 5-6-04




1/4” MAX. SHIM7

16 GA. FRAME,

7 GA. STEEL HINGE
REINFORCEMENT

< .

3/8" DIA.

ANCHOR BY ITW/REDHEAD INTO

GROUT FIL

x 5" DYNABOLT SLEEVE

» 21" Tvp 12 GA. STEEL BOX
GROUT FILLED 7 1/8" TYP, 8 . CHANNEL 1%” x 4%
@ FULL HEIGHT OF DOOR
Lo e EXTERIOR -
S A g EL 1L
O O

HORIZONTAL SECTION Q-—Q

LED BLOCK OR CONCRETE

w/ 26" MIN. EMBEDMENT

GROUT

< .

16 GA. FRAME, ; 1

GROUT FILLED 71/8" TYP. ‘g TYP.
/ | lE)('|'E|'-\’|OR

iy =

N .

I_‘ I =
1 3/4" x 5 3/4" x 12" STEEL TEE
ANCHOR AT SPACING PER SHEET 6

HORIZONTAL SECTION R-R

16 GA. FRAME,
GROUT FILLED,

SINGLE DOOR w/ ROD EXIT DEVICE
71/8" TYP. 78" TYP.

Tox
- B

STRIKE PLATE

. EXTERIOR
L -

1 3/4" x 5 3/4" x 12" STEEL TEE
ANCHOR AT SPACING PER SHEET 6

HORIZONTAL SECTION S-S

SINGLE DOOR w/ PANIC RIM EXIT DEVICE
= BILL OF MATERIALS REFERENCE, SEE SHEET 6 OF 8

#416 w/ #12
SMS

16 GA. FRAME,
FILLED

%" DIA. x 6" LONG —
WOOD LAG SCREW w/
2 %" MIN. EMBEDMENT

1 3/4" x 5 3/4" x 12" STEEL TEE
ANCHOR AT SPACING PER SHEET 6

.

el

(2) 2x WOOD
JAMB MEMBERS

ALT WOOD FRAME ATTACHMENT

(2) %" DIA.
SPOT WELDS
mlgr ° *N
t = 0.0598" (16 GA)
MIN. Fy = 30 KS|
13" 12" MIN.

ALT T ANCHOR

ATTACHMENT

PROBUCT REVigEp

83 complying with
Buiding Cogde

Acceptance N
Expirstion Dage

.Lha

By

the Floridg
s BYV-0ON2

6Y-0523.0)

2008

Biiemi Dadd By Yo
Bivision et

FLORIDA RES. # 63131

DAVID M. SCHOQACHER PE.
(NOT VALID WITHOUT SEAL)

*
o
LI
Sxp &
cge OB
39 |
<FZ v
= 0 el
Cg® o
§%:’3‘ NG
o RER
o §
a
-
Ld
Lt
o
o &
_z_ .
3 O
A
)
3l N
-
<
o
[2 4
Ll
=
3
81, 8
.| n 3
< s
Ol o ‘7'
(2] -—
oS )
¥ 1 1m
-
|
()
n
S| .
<| 3
O & 2w
o| £ 23
h33
(] (1]
Li| F$85
=| 3-8z
Qunegs
>| 2833
o -
DWwoD
o IN~O0
prd
S | SHEET 8 OF 8
<
GDC DATE: 5-6-04




